

St. Louis County, Minnesota



Date of Report: 4/30/2025 4:28:29 AM

| | | | General De | etails | | | | | |
|---|--|--|---|---------------------------------|----------------|-------------------------|------------------------------|----------|--|
| Parcel ID: | 175-0071-04350 |) | | | | | | | |
| Document: | Abstract - 1295684 | | | | | | | | |
| Document Date: | 09/28/2016 | | | | | | | | |
| | | Leg | gal Description | on Details | | | | | |
| Plat Name: | MT IRON | | | | | | | | |
| Section | Tow | nship | F | Range | | Lot | : | Block | |
| 29 | Ę | 58 | | 18 | | - | | - | |
| Description: | The Southerly 350 feet of the SE1/4 of SE1/4 EXCEPT part West of County Road | | | | | | | | |
| | | | Taxpayer D | etails | | | | | |
| axpayer Name | NORDLUND DA | VID & STRLE | AMANDA | | | | | | |
| and Address: | 4902 ADMIRAL | RD | | | | | | | |
| | MT IRON MN 5 | 5768 | | | | | | | |
| | | | Owner De | tails | | | | | |
| Owner Name | NORDLUND DA | VID | | | | | | | |
| Owner Name | STRLE AMAND | A | | | | | | | |
| | | Paya | able 2025 Tax | c Summary | | | | | |
| | 2025 - Net T | ax | | | | \$414.92 | | | |
| | 2025 - Spec | ial Assessme | al Assessments | | | \$331.08 | | | |
| | 2025 - To | tal Tax & S | al Tax & Special Assessments | | | | \$746.00 | | |
| | | Current | t Tax Due (as | of 4/29/202 | 5) | | | | |
| Due May 15 | 5 | Due October 15 | | | | Total Due | | | |
| | \$373.00 | 2025 - 2r | 2025 - 2nd Half Tax | | 73.00 | 2025 - 1st Half Tax Due | | \$373.00 | |
| 2025 - 1st Half Tax | | | 025 - 2nd Half Tax Paid \$0.00 | | 60.00 | 2025 - 2nd Half Tax Due | | \$373.00 | |
| 2025 - 1st Half Tax 2025 - 1st Half Tax Paid | \$0.00 | 2025 - 2r | | | | | | | |
| | \$0.00 \$373.00 | | nd Half Due | \$37 | 73.00 | 2025 - 1 | Total Due | \$746.00 | |
| 2025 - 1st Half Tax Paid | · | | | | 73.00 | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due | · | 2025 - 2r | nd Half Due Parcel Det | | 73.00 | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: | \$373.00 | 2025 - 2r | nd Half Due Parcel Det | | 73.00 | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: | \$373.00 4902 ADMIRAL | 2025 - 2r | nd Half Due Parcel Det | | 73.00 | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District: | \$373.00 4902 ADMIRAL 712 | 2025 - 2r RD, MOUNTA | nd Half Due Parcel Det AIN IRON MN | | 73.00 | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Fax Increment District: | \$373.00 4902 ADMIRAL 712 - NORDLUND, D/ | 2025 - 2r RD, MOUNTA | nd Half Due Parcel Det AIN IRON MN | tails | | 2025 - 1 | Fotal Due | \$746.00 | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Tax Increment District: Property/Homesteader: Class Code Home | \$373.00 4902 ADMIRAL 712 - NORDLUND, D/ | 2025 - 2r RD, MOUNTA | nd Half Due Parcel Det AIN IRON MN RLE, AMANDA I | tails | | .and | Fotal Due Def Bldg EMV | Net Tax | |
| 2025 - 1st Half Tax Paid 2025 - 1st Half Due Property Address: School District: Tax Increment District: Property/Homesteader: Class Code Home | \$373.00 4902 ADMIRAL 712 NORDLUND, D/ estead atus mestead | 2025 - 2r RD, MOUNTA AVID S & STR Assessmen Land | nd Half Due Parcel Def AIN IRON MN RLE, AMANDA I nt Details (20 Bldg | tails 125 Payable 2 Total | 2026) Def I | _and IV | Def Bldg | | |







| Land Dataila | | | | | | | | | | |
|--------------|--|--------------------------------|---------------|-----------------------------|---|-------------------------------|--------------------|--|--|--|
| Land Details | | | | | | | | | | |
| | ded Acres: | 4.47 | | | | | | | | |
| | erfront: | - | | | | | | | | |
| Wate | er Front Feet: | 0.00 | | | | | | | | |
| Wate | er Code & Desc: | D - DUG WELL | | | | | | | | |
| Gas | Code & Desc: | - | | | | | | | | |
| Sew | er Code & Desc: | S - ON-SITE SANI | TARY SYST | EM | | | | | | |
| Lot | Width: | 0.00 | | | | | | | | |
| Lot | Depth: | 0.00 | | | | | | | | |
| The https | The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov. | | | | | | | | | |
| | Improvement 1 Details (RESIDENCE) | | | | | | | | | |
| | mprovement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| | HOUSE | 0 | 1,48 | 38 | 1,896 | U Quality / 0 Ft ² | RAM - RAMBL/RNCH | | | |
| | Segment | Story | Width | Length | Area | Founda | tion | | | |
| | BAS | 1 | 12 | 24 | 288 | POST ON G | ROUND | | | |
| | BAS | 1 | 16 | 24 | 384 | POST ON G | ROUND | | | |
| | BAS | 1.5 | 24 | 34 | 816 | BASEM | ENT | | | |
| | DK | 1 | 0 | 0 | 164 | POST ON G | ROUND | | | |
| | DK | 1 | 20 | 24 | 480 | POST ON G | ROUND | | | |
| | SP | 1 | 12 | 16 | 192 | POST ON G | | | | |
| | Bath Count | Bedroom Cou | nt | Room | | Fireplace Count HVAC | | | | |
| | 1.0 BATH | 3 BEDROOMS | | - | | 0 | CENTRAL, FUEL OIL | | | |
| | | | | nt 2 Doto | | | | | | |
| | | Year Built | Main Flo | | IIS (DET GARA Gross Area Ft ² | • | Stula Cada & Daga | | | |
| ' | mprovement Type GARAGE | 0 | | | | Basement Finish | Style Code & Desc. | | | |
| | | - | 46 | - | 468 | - Faundar | DETACHED | | | |
| | • | egment Story Width Length Area | | Foundation FLOATING SLAB | | | | | | |
| | BAS | 1 | 18 | 26 | 468 | FLUATING | SLAB | | | |
| | | I | Improvem | ent 3 Det | ails (ST W/4LT | "S) | | | | |
| I | mprovement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| | BARN | 0 | 54 | 6 | 546 | - | - | | | |
| | Segment | Story | Width | Length | Area | Founda | tion | | | |
| | BAS 1 | | 13 42 | | 546 | POST ON G | ROUND | | | |
| | LT | 1 | 10 | 16 | 160 | POST ON G | ROUND | | | |
| | Improvement 4 Details (8X16 LOGST) | | | | | | | | | |
| 1 | mprovement Type | Year Built | • Main Flo | | Gross Area Ft ² | , Basement Finish | Style Code & Desc. | | | |
| | STORAGE BUILDING 0 | | 128 | | 128 | - | - | | | |
| | Segment Story | | Width Length | | Area | Founda | tion | | | |
| | BAS 1 | | 8 16 128 | | POST ON GROUND | | | | | |
| | Improvement 5 Details (8X16 ST) | | | | | | | | | |
| 1 | mprovement Type | Year Built | Main Flo | oor Ft ² | Gross Area Ft ² | Basement Finish | Style Code & Desc. | | | |
| S | TORAGE BUILDING | 0 | 12 | 8 | 128 | - | - | | | |
| | Segment | Story | Width | Length | Area | Founda | tion | | | |
| | BAS | 1 | 8 | 16 | 128 | POST ON G | ROUND | | | |
| | | | | | | | | | | |







Date of Report: 4/30/2025 4:28:29 AM

| | | Improven | nent 6 De | tails (22) | (34 BN) | | | | |
|--------------------|---------------------------------|-------------------|---------------------|----------------|------------------|----------------|-------------|---------------------|--|
| Improvement Type | Year Built | Main Flo | oor Ft ² | Gross Are | aFt² B | asement Finish | Style Co | de & Desc. | |
| BARN | 0 | 748 | | 748 | | - | | - | |
| Segment | Story | Width Length Area | | ea | Foundation | | | | |
| BAS | 1 | 22 34 | | 74 | 8 | POST ON GROUND | | | |
| LT | 1 | 13 34 442 | | 2 | POST ON GROUND | | | | |
| | | Improveme | nt 7 Deta | ils (8X10 | MTLSHD) | | | | |
| Improvement Type | Year Built | Main Flo | oor Ft 2 | Gross Are | aFt² B | asement Finish | Style Co | de & Desc. | |
| STORAGE BUILDING | G 0 | 80 |) | 80 | | - | | | |
| Segment | Story | Width | Length | th Area | | Founda | ation | | |
| BAS | 1 | 8 | 10 | 80 |) | POST ON GROUND | | | |
| | | Improvem | ent 8 Deta | ails (14X2 | 20ST/LT) | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area | - | asement Finish | Style Co | de & Desc. | |
| STORAGE BUILDING | G 0 | 28 | 0 | 280 | | - | | - | |
| Segment | Story | Width | Length | Are | ea | Foundation | | | |
| BAS | 1 | 14 | 20 | 28 | 0 | POST ON GROUND | | | |
| LT | 1 | 14 | 10 | 14 | 0 | POST ON (| | | |
| | | Improve | ment 9 De | etails (Lo | afShd) | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area | • | asement Finish | Style Co | de & Desc. | |
| STORAGE BUILDING 0 | | 288 | | 288 | | | | | |
| Segment Story | | Width Length | | Area | | Foundation | | | |
| BAS | 1 | 12 | 24 | | | POST ON GROUND | | | |
| | | Improven | nent 10 De | etails (36 | x70DG) | | | | |
| Improvement Type | Year Built | Main Flo | | Gross Area | - | asement Finish | Style Co | de & Desc. | |
| GARAGE | | | 20 | 2,960 | | - DETACHE | | ACHED | |
| Segment | Story | Width | Length | Are | ea | Founda | | | |
| BAS | | | 80 | FLOATING SLAB | | | | | |
| BAS | BAS 2 0 0 440 | | 0 | FLOATING SLAB | | | | | |
| | Sal | es Reported | to the St. | Louis C | ountv Audi | tor | | | |
| Sale | Date | | Purchase | | , | | V Number | | |
| 06/2 | 06/2006 | | \$61,5 | | i00 | | 218199 | | |
| 06/2 | 06/2006 | | | \$63,391 | | | 172161 | | |
| | | As | ssessmen | t History | , | | | | |
| | Class | | | - | | Def | Def | | |
| Year | Code (<mark>Legend</mark>) | Land EMV | Blc EM | | Total EMV | Land EMV | Bldg EMV | Net Tax Capacity | |
| | 201 | \$34,600 | \$76, | | \$110,700 | \$0 | \$0 | - | |
| 2024 Payable 2025 | Total | | | 100 | \$110,700 | \$0 | \$0 | 741.00 | |
| | 201 | \$34,600 | \$79,2 | | \$113,800 | \$0 | \$0 | - | |
| 2023 Payable 2024 | Total | \$34,600 | \$79,2 | | | \$0 | \$0 | 868.00 | |
| | 201 | \$34,600 | | 3,100 \$107,70 | | \$0 | \$0 | - | |
| 2022 Payable 2023 | Total | \$34,600 | \$73, | | \$107,700 | \$0 | \$0 | 802.00 | |
| | IViai | φ04,000 | φ13, | | <i>w</i> 101,100 | Ψ | ΨŪ | 002.00 | |





St. Louis County, Minnesota

| 2021 Payable 2022 | 201 | \$23,200 | \$63,200 | \$86,400 | \$0 | \$0 | - | | |
|--------------------|----------|------------------------|---------------------------------------|-----------------|---------------------|-----|---------------|--|--|
| | Total | \$23,200 | \$63,200 | \$86,400 | \$0 | \$0 | 569.00 | | |
| Tax Detail History | | | | | | | | | |
| Tax Year | Тах | Special Assessments | Total Tax & Special Assessments | Taxable Land MV | Taxable Build MV | • | al Taxable MV | | |
| 2024 | \$670.92 | \$331.08 | \$1,002.00 | \$26,391 | \$60,411 | | \$86,802 | | |
| 2023 | \$627.33 | \$358.67 | \$986.00 | \$25,750 | \$54,403 | | \$80,153 | | |
| 2022 | \$458.16 | \$297.84 | \$756.00 | \$15,288 | \$41,648 | | \$56,936 | | |

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.